2. SCBAAANAFNASK 2 2024 = AKX FIOHE 0l &H(OF)
1) N AE asZHE
(29 &8)
Hi e Al z
- . = 20244 2024 A1 4t s IS - 5 - 20244 2024 A1 4t s i
— - ﬁ EEOLHA) | FHLB) (B-A) (%) _ - ﬁ EEOLHA) | FHOIAHB) (B-A) (%)
= 2,207,010 | 2,245,418 38,408 1.7 e 2,207,010 | 2,245,418 38,408 1.7
=R 2 i 78,610 79,810 1,200 1.5 ArRdl | & O 1,570,924 | 1,570,924 - -
(1) | Aag ;| 78,610 79,810 1,200 1.5] (01) o2 ;| 1,463,126 | 1,463,126 = =
(11) =3 PR 2,230 3,430 1,200 53.8 (11) 201(111) 995,641 995,641 - -
(111) Mg (112) 230,137 230,137 - -
HoAoIM A 4 49,800 49,800 - - EIRNYZ(115) 102,761 102,761 - -
(112) NEIE R SHIE(116) 126,287 126,287 - -
A 2H A4 24,400 24,400 - - JIEFZ M AHI(117) 8,300 8,300 - -
(113) g | 18,400 18,400 = =
JIEtAFR &2 2,180 2,180 - - FaHl el (121) 3,600 3,600 - -
(114) (12) =3 | (122) 11,400 11,400 - -
223 | & I 1,867,809 | 1,867,809 = = 3l o1yl (123) 3,400 3,400 - -
+9 CES 2 i 1,867,809 | 1,867,809 - - 28 2 A 89,398 89,398 = =
(03) +9 NEEZ2(312) 1,762,177 | 1,762,177 - - (13) o181 (131) 9,600 9,600 - -
(31) +EHL++2(132) 27,488 27,488 - -
JIEHE Z2(314) 105,632 105,632 - - Z223(133) 27,240 27,240 - -
HAIS 23 (134) 14,910 14,910 - -
X2 (135) 5,040 5,040 - -
S 2 HI(136) - - - -
DI EH2 HHI(137) 5,120 5,120 - -
223 [ 2 68,410 73,890 5,480 8.0 et E;| 15,350 15,350 = =
+9 EEE E;| 68,410 73,890 5,480 8.0 =&l Al &l | 15,350 15,350 = =
(04) +¢ NEZ=2A3+(411) 50,410 55,890 5,480 0.9 (02 (21) Al &HI(211) 500 500 - -
(41) | HINESAS3=2A(412) 18,000 18,000 - - XHaHE SHI(212) 4,000 4,000 - -
AEZHIR XY (213) 10,850 10,850 - -
I S22 A (214) - - - -
A3 | 4 25,000 25,000 - | A== R S 530,796 540,006 9,210 1.7
(06) R | 25,000 25,000 - - (03) el 2 A 400,764 396,994 3,770 |- 0.9
(61) HoIMAZ(611) 25,000 25,000 - - At ateAte el (311) 490 490 - -
oMU (2E3) - - - - (31) o2& (312) 590 590 -
(612) WSTHE(313) 11,841 11,841 - -
X TH & (314) 4,378 4,378 -
AbS| 8121 TH & (315) 16,515 12,915 3,600 |- 21.8
b= X1 (316) 16,340 16,340 -
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Bl 2 Al =
- = o 20244 202441 &} s HIE a = o 20244 2024 A1 &} s v
- - B EFEOAHA) | EHOIAHB) (B-A) (%) - - B EFEOAHA) | EHOIAHB) (B-A) (%)
S 2,207,010 2,245,418 38,408 1.7 S 2,207,010 2,245,418 38,408 1.7
olg=2 ;| 163,381 195,109 31,728 19.4 AKX (317) 33,364 33,364 - -
(07) 0l&3 ENO| 163,381 195,109 31,728 19.4 B H3(318) 37,540 37,540 - -
(71) HEZ0IE2(711) 90,000 113,602 23,602 26.2 Of & 01 QI X & (319) - - - -
HEZ0IE2E2A2(712) 30,621 31,583 962 3.1 A2l WK (31A) 14,250 14,250 - -
HEZOIE2EX2(713) 42,730 43,782 1,052 2.5 KIS AFS KHR N (31B) 3,750 3,750 - -
dEzo|e= 30 6,142 6,112 | 20,373.3 E 2 AL (31C) 12,910 12,910 - -
QEXISZ(714) ZAFA(31D) 37,305 37,305 - -
4 N 3,800 3,800 - - JIEFAFHI(31E) 55,600 55,600 - -
(08) TR N 3,800 3,800 - = S AI|HIHA AN (31F) 150, 100 150,100 - -
(81) ESZ0H2L0H(811) 520 520 - - st AL (311) 5,791 5,621 170 |- 2.9
JIEHUI 20l k=21 (812) 160 160 - -
JIEFE 2=21(813) 3,120 3,120 - - QX A 130,032 143,012 12,980 10.0
Ar I SFE2HYEZL20IAF(321) 80,220 80,220 - -
(32) SHAESXE A (323) 5,000 5,000 - -
MB35 n=(325) 15,912 15,912 - -
StatE 2 A X & A (32E) - 5,000 5,000 100.0
KDBAHR! 28 X 21 AH (32F) 6,000 6,480 480 8.0
SEH2XAAIH(326) - 7,500 7,500 100.0
2RI A Z2AH (32H) 22,900 22,900 - -
BEHEXS NEE | 1,000 1,000 = -
(04) K& (41 WHE =X E(411) 1,000 1,000 - -
NS NS | 500 500 - -
(06) (61) SXE(611) 500 500 - -
0l bl bl Ol bl bl | 88,440 117,638 29,198 33.0
(07) (71) oIl (711) 45,710 73,856 28,146 61.6
BHet = (712) 42,730 43,782 1,052 2.5










